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(b) ftq/fr.{
(d) 3frtc-frc{2

(b) Ohm/metre
(d) Ohm-metre2
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Answer any 6 questiors out of the t questiotts in Seaion-B. Each question

carries 3 marks an<l to be answered within 5 lines / 50 words.

(iv) l*a-fr*c nwl tC ffit vel* rar<?&q l vfiatws aio or d sa

14?,t rs dntc/ tso l,qll{atdfrq r

Answer any 1 questions out of the 6 questions in Seclion-C. fuch question

carries 8 mork and to be answered within I5 lincs / 150 tmrdl
(v) vd* daq * dfi vwt ol rcER sr stE dd Afrq t

Solve all the queslions ofa section conseculively logelher'

(vi) qfr qq3tl I {a{ dh A fufr I 3itfr egn O vz d t

Onty Engtkh version is valid in case of diference in both the languages'

kn-q
Section - A

fefrrEcftriqsIcrr6t
(a) *(l
(c) *fi-+a
Unit of specific resistance is
(a) Ohm
(c) Ohm-meter

l)■ ()
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(ii) avftrtq R, dr R,+)vtrat6qif {i*tddrric{gevftrtqt,rr
7273

(a) R1/R2

(c)RlL

(a)R1/R2
(c) R:R2

Equ市alent resistancc oftwcp rcsistanccs Rl&R2C°nnected in parallel wili bc

(b)R:+R2
(d) RlRりRI+R2

(a) qrmF++vftqt
(c) orrrn$uftur
Volt Ampere Reactive (VAR) is unit of

(b) Rl+R2
(d)R:R2/Rl+R2

(b) shqrfrsvrRs.l
(d) vfuerqr6r

(b) Reactive power
(d) Impedance

(b) 10-6+{rg
(d) ldftrs

(b) lFfarad
(d) td farad

(b) v. = JIv,
(d) vP = vLJS

(b) vP= JSvL
(d) Vp=VL16

司ヽ 命Ч ttЧミl
(b) ffiftqsq
(d) gfiasv

mathematical form of phaser.

舌瑶籍
満哺"む命輌~き(b) 02t同口嘔

(c) 2fu{z (d) 0.02 +6u-s
If frequency of altemating voltage is 50 Ha then is time period is
(a) 2 sec. (b) 0.2 sec.
(c) 2 minute (d) 0.02 sec.

(iv) *e tFn frqfuq Nan) qrf,s i

(宙 )ぎ日鶯3にRuホ蒻書漏 摘   (vP)象 。11■ゴぼhO`L)希 "Ч
°円引き

(a) True power
(c) Apparent power

(v) S6cr{*1krg5rffii
(a) l0-r +{rs
(c) 106+{rs
Value of one micro farad is
(a) l0-3 farad
(c) 106 farad

(a)VL=｀
「
VP

●)VP=Vi´

connection is

(a) vL = JSvp
(c) Vp = Vr

--) -)
(vii) tq{ v =l v lCietvtiFr

(a) E,tffqw
(c) q{eldifrsr

-++
Phascr V=IVIざ jO｀

(a)Rectangular fom
(c) Exponential follll

Relationship between Phase Voltage(VP)and Line Voltage(VL)° fthree phase star

(b) Trigonometric form
(d) Polar form
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(viii) (l + a + a2)i5I gft<w{rni,
(a)' o

(c) Ji zw
Value of ( I + a + a2) in polar form is

(a) o

(c) Ji zso'

(a) vF
(c) 0.8 3rnrnff

(ix) 6.fr. qhz t sffi S;rsdc Ernt sr yr?rft-6 3t{c t
(a) 5ewwiofrffnffi+cmi t

(b) sTrfqtwfi slrcrft fidri t

(c) *ftgw*awm+1r<rdco,rdli t

(d) scn wffi fudotr*ritsai t

Primary reason for providing compensating windings in dc generator is to

(a) Compensate for decrease in main flux
(b) Neutralize armature flux
(c) Neutralize cross magnetizing flux
(d) Maintain uniform flux distribution

(x) qffsnfta 6<trmf+s{ft Xqisc( 3rfrr*-dctrft ?

(3 of4)

(b) JI zv
(d) | ztr

(b) .li zo'
(d) I z0o

(b) o.8qgrrfr
(d) qdi6

7273

(lxl0)

At what power factor efficiency of the transformer will be maximum ?

(a) zaro O) 0.8 lagging

(c) 0.8 leading (d)uniけ

tilc-{
Section - B

2. r6trq6 qftrm{Pcsaqlffirtq +ftqq{drrs I

Define resistance and state the laws of resistance'

3. f6cqi5+Frqql+1frfuit
Write Kirchhoffs laws.

4. qfurffiIdi j{i5rr*6lr(€scsr{q I

What is the significance of operator-j in vector algebra ?

s. rsr+dqnr*'q,lclq{fl'clc61{Esr{q t

Explain "root mean square" value of altemating current'

6. ftqnft gq-**qrtortitqrdilffi fdfuq t

Write the disadvantages which are due to low power factor'

7. TE*-dtl-{ft*erqftfus t

Write the advantages of polyphase system'

(-1)

(3)

(3)

(3)

(3)

(3)

P.T.O.
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8 鐘 ЧRI命よ希論 鋼 bヽ l                      .
WHte down uses of DC motor                                (3)
9 怪 tTmね 0'両錬 Fqい蒻 引 ね き?
Whatis back EMFin DC motor?                         (3)

魚田 ―論

Section― C
10.0… ヾ億顕繭 n9.lマ爺RI

。紙 繭鑑酬器鑑鴇 |

Dedve the expression fbr current decay in an inductive circuit.            (4+4)

H・ 0薇 赫 書ミ韻 薇 司 赫 雨 ● 可躙 輸 蒻 翻厠 Rl

。 記 nT論 Ⅲ 鶏 T綿 罫 1面
」おm Junitv∝Ю面n“ctor J"臨

Wntc the folloⅢ ng vector quantity in polar folll=:

(a)  3+j4                   (b)  6+j8
(C)  1+jl                  (d) 2+j2                         (4+4)

12.o 5薫甲甫Ч ltl司倒Ч喘頭漁青i=2∞ Jn 132 tさ命綱 嘲哺
●)躙爾ゴHI¬でT(Imp●)師n
The equation ofan alternating current is i=200 sin 132 t then flnd

(→ Root mean squarc valuc of current(lms)(b)frequcncy.

Ctil T繭 欄 了 姉 目き"qoい躙雨
qRT黛耐 薇 J両鋪 奇

劇で:qOiさ~:
Exphn“騰havbЩ of pure FSstance md puF hd“ tancc h AC.d“ uな

+。輌th phasor diagan.

1■ 0れ 潮 漱 f派「市希欽 漏 躙 象 u鳴・ 7RI｀ 00●爛申 て輸 でfml
Establish relationship between phase current and line current For a delta
connected 3‐ phase system.

o赫 謙測
`d暉
論願研Ri5'覇両司h哺田 11はT｀飲 漱蒟

赫 詢 :

需 鳳 晰 溜 謡出l:亀1品PaseV°
L"・ 映i“ 血e ttp“sSonおr"■

+。

14甲鎌 躙 姉 1珊璽 鋪 q引●ヽ長蹴 輛 満 希モ面 諭¬卿 瞑 :

Draw a ncat diapm ofa DC machine and exPIJn function ofallits parts.     (3)

15.鮨爺喩面RJ¥af油面鍮ぎ:
Write short notes on fo■ owing:

(1) B‐Hq"
B‐H Curve

①

…

ね
Synchronous motor                               (4+4)


